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Zähler und Nenner max. bis 15.

10
—
9 

-
3
—
5 

=
23
—
45

---------
10
—
4 

10
—
5 

=
1
—
2

—
 

10
—
7 

-
13
—
15

=
59
—
105

-----
6
—
5 

3
—
6 

=
7
—
10

—
 

11
—
7 

-
14
—
15

=
67
—
105

--
12
—
9 

2
—
10

=
17
—
15

—
 

13
—
10

-
13
—
11

=
13
—
110

-
15
—
4 

7
—
15

=
197
—
60

—
 

8
—
12

-
9
—
14

=
1
—
42

--
15
—
11

12
—
13

=
63
—
143

—
 

14
—
4 

-
5
—
7 

=
39
—
14

--
10
—
2 

8
—
7 

=
27
—
7

—
 

6
—
5 

-
6
—
12

=
7
—
10

-
15
—
6 

8
—
13

=
49
—
26

—
 

www.bin-dann-weg.de -> Ferienwohnungen und Ferienhäuser
www.kleinanzeigen-und-annoncen.de -> Kostenlose Kleinanzeigen Deutschlandweit


